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§1 Introduction

This paper has been written as an appendix to a paper which I
have presented at the annual meeting of "De Vereniging voor de
Staathuishoudkunde' in December 1975, titled 'De structurele
vraag naar arbeid in een drie-sectorenmodel'*). It is however
not strictly necessary to study that paper first before
reading this one, because the model which is presented in the
main paper, is treated here too. The main emphasis is however
on rather technical problems, especially on problems of stab-
ility. So for a more detailed treatment of the properties of
the model and of its possibilitiés of application to actual

economic development, I refer to the main paper.

*) The English version of that paper will be published in the
quarterly review 'De Economist', Volume 124 (1976),
issue 3.



§2 The static equilibriummodel

Under technological conditions with fixed coefficients the
services of a single grade of labour and of a single type of
capital good (machines) are the inputs for producing three
types of commodities; capital goods (i), industrial consumer
goods (cx) and consumer goods as services (cz). Labour and
machines are freely transferable from one sector to another.
Input-prices are the same in all industries and commodity-
prices are equal to the sum of labourcosts and gross profits
(i.e. depreciation of capital included), each per product
unit. Wages are all spent on consumer goods in a constant
ratio and profits are all spent on machines. The supply of
labour (2 ) and the stock of capital goods (k), which is
supposed to be fully employedl), are exogeneously determined.

The price of good c 1is set to one.
1

The model:
N n v §
(21 a; 1 + alcl + azc2 = lv : demand function for labour
v v i L 5
(2.2) Ky 1 ¥ K C #K c2 = k : production possibility
i a1 2 o

function of machines

N N N
(2.3) P, = @ Pp + Klpir
(2.4) BZ = azBL + K2$1¥ price functions
Y 47 "y
12:5) Py = %yby ¥ B0y
4" %
c p
(2.6) ;i = T¥— C E£ : spendings out of wages
e Y P
2 1
v Ny %
(2.,7) 1. = ke : spendings out of profits

1) In appendix A the hypothesis of full utilisation of capacity
is dropped and some calculations are made based on a model
with exogeneously determined investment.



(2:8) El =1 : numeraire

The meaning of the symbols:
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labour-output ratio in sector j
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capital-output ratio in sector j
: production volume good i

production volume good A

production volume good e

=2 Q2 Qé B2 A
N

demand for labour

<

stock of capital goods

J = £,1,2 : commodity-price good j

.

nominal wage rate

Re r™e e Ixe
&

: profit-rate (depreciation included)

: parameter of consumer preference

The model, featuring eight equations and nine unknowns, can be
completed in two ways; first by assuming full employment of
labour

&
(2.9) zv g .

and second by fixing the distribution of income
b ~» _ v
(2.9 P, = PBp,

In the first case an income distribution is established
supporting full employment of labour, and in the second case
high wages cause unemployment and low wages overemployment.
For reasons of symplicity K, is set equal to zero. This has
no consequences for the qualitative properties of the model.
Equations (2.10), the well known factor price frontier, and
(2.11), the aggregated demand function for labour, are easily



deduced from the model equations:

o7
(=
|
A
H

Y]
(2.10) W =

o
R
&
o
Re

2 T =
(2.311) 2p =

<[~

N )
. .].'.... . (a +Dr) ok
K 1 —
1
Assuming the cl-goods sector more capital-intensive than the
investment-goods sector, which means D > 0, the relation

between income distribution and demand for labour is

represented in figure 1.

Re

figure 1: the relation between demand for labour and income

distribution.

Full employment (DG) is realised at the intersection G of the
demand function for labour (2.11) and the inelastic supply
function of labour (za) at a profit-rate OD. According to the
factor price frontier the real wage-rate is OA. A higher real
wage-rate, say OB, makes the profit-rate lower (OC) and causes
unemployment (EF).

These results are summarized in two examples in table 1.



- = 2 ] l. = I = - 1
Data: ai 3 al > az 1 &a = 40 ¥ =g
=3 " _ 2 = _ 10
Ki 3 Kl—5 K2—0 £—120 D—-3—
Solution:
Table 1 Two examples of the static equilibriummodel
To=1% b) B = 1,37
a) - ™ Ky ) P, = I 375
Ny %
wages Q-pL 40%1 = 40 | 32%x1,375 = 44
N
profits ¥.B.-r|120%1x0,1 = 12 | 120x1,25%0,05 = _7,5
> 52 51,5
’ N
cl—consumptlon cl'pl 20%1 = 20 | 22x1 = 22
c —-consumption gz-;z 20%1 = 20 | 16%x1,375 = 22
2
LY
investment i-;i 12%1 = 12 | 61,25 = 7,5
52 51,5
n il 1
employment c -sector al'c! 3*20 = 10 5*22 = 11
1
employment c -sector az'gz 1x20 = 20 | 1x16 = 16
2
v
employment i-sector |o.°i §x12 = 10 §X6 = 5
b ) 6 70 6 e
total employment 40 32




§3. The process of short term adjustment

It follows from the preceding paragraph that full employment
can be realised for only one specific distribution of income.
Are there however on short term, i.e. within the period that
the capital stock is supposed to be given and constant, forces
tending to full employment, if it is not realised as a result
of a 'wrong' distribution of income? The answer might be found
in a 'Phillips-curve' relation between the rate of rise in
wages and the (rising) propertion of unemployment.

Now two versions are presented concerning the process of short

term adjustment:

a) The labour market is supposed to operate in a strong way,
i.e. that the real wage-rate is changing until full employ-
ment of labour is realised.

b) The labour market is supposed to operate in a weak way,
i.e. that the real wage-rate won't change anymore, unless

demand for labour changes.

It will be proved that in case a) full employment is the
result of the operation of the labour market, but not always
in a stable way, and that in case b) unemployment or total
instability are caused by a wage-rate that is initially too
high.

The processes of adjustment are formulated in terms of
relative differences from the equilibrium solution of the
model. So X being the real and ﬁo being the equilibrium value
of a variable, the relative difference x of that variable is

defined as

2)

My
[}
)

(3a1) X

X

In the equilibrium neighbourhood the first difference of this

new defined variable (Ax)

2) Mutations in the profit-rate are usually measured in points
of percentages so r = © - L.



(3.2) A% E % - x_1

is approximately equal to the relative mutation of the
variable with respect to the preceding period.

Now the factor price frontier (2.10) and the aggregated demand

function for labour (2.11) can be reformulated as follows:

K o,
(3.3) w = -Ar ) with A= = L2 = > 0
(a +Dr ) (l-k.r )
1 0 i~m
(3.4) 2 =Br *) with B=—2__ 5

n
o 4% Dr
1 0

If there is a certain lag in reaction of changes of the wage-
rate to labour market conditions and if an initial disturbance
of the equilibrium wage-rate is denoted by AELS), the two

versions of labour market reactions can be formulated as

follows:
(3.5)% Aw = B L_ + dpy ®)  (strong version)
(3.5)b Aw = B A%+ Ap, ©) (weak version)

2 - L

The model consisting of the equations (3.3), (3.4) and (3.5)a,

can be reduced to a set of difference equations:

!) sSecond order effects are neglected. The exact solution is:
w = -Ar - Bwr.
“) On short term there are no changes in the capital stock.
®) an Incidental wage-push is defined by:
p
ABL =1 for t =1
=

0 for & % 1

According to definition (3.2) this is identical to:
py,, = 1 for all t >
t

v
—

A permanent wage-push is defined by: AEL = 1 foxr all € > 1
£ =5

6) The coefficients of reaction in the labour market are
denoted by Bl resp. Bz'



w w 1
o g B -1
(3.6) r = (1 8l A) r + : ARLt
2 2 _ B
£ t=1 A

For an incidental wage-push the structural or trend solution
of the process of adjustment is equal to the equilibrium
solution of full employment. This follows from the solution of
the set of difference equations (3.6), which is given for an
incidental 1% wage-push in period 1 by:

w 1
t=1
= dvug B i gus L
(3.7) x = {l B1 A} =
B
e T A

The stability and the character of the adjustment process
depend on the quantitative values A, B and 81' The process is

a. asymptotically stable : if 0 % B = %
1
b. quasi stationary if Bl = %
; g A A
c. oscillatory stable ol B < 81 < 2 B
d. oscillating with constant amplitude if 81 = 2 %
e. unstable with explosive oscillations if Bl > 2 %

In a diagram (fig. 2) the oscillatory stable adjustment process
(case c) is illustrated. The factor price frontier (2.10) and
the aggregated demand function for labour (2.11) are drawn in
the first and second quarter of the diagram (cfr. fig. 1,

page 4). The (strong) reactions in the labour market are

denoted by curve (a)-(a) in the third quarter7), and a 45°-line

7) see for the exact algebraic formulation of curve (a)-(a)
and an alternative graphic representation of the adjustment
process appendix B.
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Fig. 2: the process of short term adjustment (the strong case)

in the fourth quarter is transforming the wage-rate, measured
on the Western horizontal axis into the wage-rate, measured on
the Northern vertical axis.

Now from the diagram it is easy to see, that a wage-rate set
higher than the equilibrium-rate (OA > OC), at first causes a
low profit rate (OK) and unemployment (PS). Reactions in the
labour-market reduce the wage-rate to 0Z (< OC) under the
equilibrium-rate, so overemployment (PR) results and wages

are pushed up again (OX > 0Z, but OC < OX < OA). A new round
of wage adjustment begins but in a more close neighbourhood of
equilibrium. The adjustment process will stop if full employ-
ment (OP) is reached; OC and OL denote the resulting equi-
librium rates of wages and profits.

The model consisting of the equations (3.3), (3.4) and (3.5)b,

can be reduced to a set of difference equations:



= g =

w w g,

- (-g B -1
(3.8) B =R ) 1F & axl B -
2 B &

2 -

\ = =1 A

For a (positive) incidental wage-push the structural or trend
solution of the process of adjustment will be unequal to the
equilibrium solution in such a way that there will be
unemployment, a wage-rate higher than, and a profit-rate lower
than equilibrium. This follows from the solution of the set of
difference equations (3.8), which is given for a incidental 1%
wage-push in period 1 by:

w 1

BzB t-1 A 1

(3.9) r¢ = IfF B, X *mEEE )i
2 2 B

2 " ol

The structural value of the model variables is given by:

PO .
(3.10) w = A+BZB Py,

= 1
(3.11) r = = —A-PBZB EL

7 B
(3-12) L= - e s B

The stability and the character of the adjustment process
depend on the quantitative values of A, B and Bz. The process
is:

a. oscillatory stable if 0 € 32 < %
b. oscillating with constant amplitude if Bz = %
c. unstable with explosive oscillations if g > %

2
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In a diagram similar to figure 2 (page 9) the weak version of
labour market reactions can be illustrated. Only the curve
(a)-(a) is different®). In figure 3 case b), the oscillating
process with constant amplitude, is represented. The process
is started at a wage-rate OA and repeats itself after two

rounds.
v
w
L
al
-
|
>4 =
o
Lo
Y 4 3 ’]\:_n
Vi K| 'L - 1
| | K,
v ¥ 4
\'\l
(1,73
' (]
\ —-a
(a)
n
2
v

fig. 3. the process of short term adjustment (the weak case)

®) See appendix B.
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§4. The process of long term adjustment at full employment

level

According to the aggregated demand function (2.11) demand for
labour depends - although not exclusively - on the volume of
the capital stock that is given and constant on the short run.
Via the investment function (2.7) and the accumulation function:

(4.1) K=Kk (-8 +i_ )

the volume of the capital stock will however change over time.
It will be discussed now, whether this volume will reach a
constant and stable value in the long run, provided the
constancy of labour supply, the preferences and the technical
possibilities.

The analysis will be focused on the structural development of
the capital stock, so short term adjustment processes as
treated in §3 will be ignored. In each period such a
distribution of income is supposed to result that full
employment of labour is guaranteed. Now the relation between
profit-rate and capital stock is easily found:

| =

i NN
(2.11) %v T (o +DE)K ¥

1 b (4.2) }‘ = lD—a

Aol
“

| =

a v
(2.9) 2V

The net rate of growth of the capital stock is determined by
the profit-rate as follows:

" N
€2.7) i ker

» (4.3) g = ——t=Y_ -3¢

1 -
k  {1=6) # 1_, -1

~e
l

(4.1)

°) 6§ is the uniform and constant rate of depreciation of the
capital stock.



In figure 4 relation (4.2) is drawn. Parallel with the k—axis
the line of the constant rate of depreciation is drawn
(0A = 8); so the net rate of growth of the capital stock is

found as the difference of both curves.

(A

I
|
[
|
I
1

D

~e

~

E ~

-~

fig. 4. the relation between profit-rate and capital stock

If initially the capital stock is given by OD(< OE), a
profit-rate OB is realised higher than the depreciation rate
OA, so the net rate of growth of the capital stock is positive
causing a capital stock higher than OD in the next period. If
the initial capital stock were higher than OE, a negative rate
of growth and a smaller capital stock would result.

If S, which is clearly the structural equilibrium solution of
the long term adjustment process and which is characterized by
a profit-rate equal to the depreciation rate and a capital
stock the size of OE, is reached in a stable way, is analysed
as follows:

From (3.2) and (3.3) the following formula for the adjustment
process is derived:

o, ik

$.4) k= (1813
(4.4) = (1 D K-, )

The process is
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o
a. asymptotically stable if 0 < § + Bl < 4
o
b. quasi stationary if & + Bi = 1
a
c. oscillatory stable if 1 ¢ § + Bl € 2
a
d. oscillating with constant amplitude if & + Bl = 2
o
e. unstable with explosive oscillations if & + EL > 2

If equation (4.3) is replaced by the differential notation
Y
dk
Ny
kdt
following differential equation:

= ;—6, the adjustment process is descripted by the

g o K y%
dk 1 v T '=a
(4.5) It + (D—"‘S)k = 5

From the solution

n o n

0 K Y&a -(B—+6)t K Y&a

(4.6) k, = (k - e + ——l—g
E 0 a1+D al+D

it follows that the adjustment process is asymptotically
stable. If the capital stock has reached the equilibrium value
OE!'°), the model is that of a stationary economy, (replacement-)
investment just compensating the depreciation of the capital

stock.



§5. The balanced growth model

We ended the preceding paragraph with a stationary economy.
Now the characteristics will be studied of an economy which is
growing in a balanced way, i.e. that all model variables show
a constant - not necessarily the same - rate of growth.

Suppose

a. a constant periodical (and equal) rise of labour product-
ivity (p) in sectors c and i!!). The capital-output ratio
is constant.

b. a constant periodical decline (n) of the preference for
good cl.

c. a constant periodical rise (m) of labour supply.

So we have:

§5.13 %—(t) (1+p) ° é—(t-l) for j = i,1
) J

(5.2) Y it) (1-nm) 1ilk=1)

v Ny
(5.3) La(t) = (1+m) - £5(t-1).

The model of balanced growth - i.e. with full utilisation of
both factors of production and a constant profit-rate - is
formulated as follows.

From (5.1), (5.2) and the aggregated demand function for labour
(2.11) we find:

\ L)
bolt) = & 0-1) e
(1+p) (1-n)

(5.4) 9, =

¥ 1%gk-p+n
v lv(t—l)

From (5.3) goes:

11) Rise of labour productivity in sector c, is without
consequences for demand for labour; it follows from (2.2)-
§ v =y 1 . M
(2.7) and ¢ = 0 that & =a, Cc = +=—(a +Dr) k.
2 2 ) Y K, 2 =
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n n
~ 2 (8) - Za(t-l) ~
gl < N~ =m
a £_(t=1)
a

(5:5)

For a constant profit-rate (3.3) changes to:

(5.6) £ = §

I

And the condition of full-employment of labour results in the
following equilibrium condition:

(5.7) 9,

g4

9y
a

The equations (5.5)-(5.7) describe the balanced growth model.
The solution is as follows:

R
(5.8) r =mT+p+8-n
(5. 9) & =" p-—h
(5.10) g, =g, =m
v a

In table 2 a survey is given of the rates of growth of the
model-variables.

Table 2. Survey of the rates of growth in the balanced growth

model
rate of growth variables rate of growth|variables
: X+ B3
r'pl'pi p Py,
Yo N Ny
,E m+ P + c
n 1‘Yo n1¢,P,
: T | ¥
pL,w,pz 5 ORI
&k % &m N 2 Yo z Vg
m n 'kp T, o,C P g e n ,7S,
voan, 0
i,ip;

'2) If there is also a constant rise in labour-productivity

(02) in the Cc,-sector, it follows that: g =g =P, and
g =7 + —2-n + o,- Py

c, 1=y,
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§6. The interaction between balanced growth and processes of

adjustment in the short and in the long run.

The short term dynamics of demand for labour and income
distribution for a given capital stock and the long term
dynamics of capital stock and income distribution at full-
employment level are treated in §3 and 54 respectively. Now a
model will be constructed which integrates both types of
dynamic adjustment and also takes into account the properties
of the balanced growth model of §5.

The model is formulated in terms of relative differences from
the equilibrium solution of the balanced growth path. (cfr. 53) »
So X being the real and iE being the equilibrium growth value
of a variable, the relative difference x of that variable is
defined as:

X - iE 13)

E

i

(61} x =
X
In the equilibrium neighbourhood the first difference of this

new defined variable (Ax)

(6.2) K € x = X_,

is approximately equal to the additional or extra rate of
growth of the variable with respect to the previous period,
that is to say equal to the difference between the actual rate
of growth with respect to the previous period and the equi-
librium rate of growth of the variable.

Now the factor price frontier (2.10) and the aggregated demand
function for labour (2.11) can be reformulated as follows:

(6.3) w = -Ar '*)

13) v = ¢ - T_ (cfr. note 2, page 6).
1%) second orger effects are neglected. The exact solutions
are: w = -Ar - Bwr and £ = k + Br + BKkr.



- P -

(6.4) £ = k + Br %)

It is easy to see that the path of capital accumulation is
descriped as follows:

(6.5) Ak = r_,

As in 83 two versions of labour market reactions can be
formulated. In order to distinguish the short term character
of labour market reactions from the long term character of
capital accumulation, the specification of the labour market

reaction curves is without lags:

(6.6)a Aw B 2 + AEL (strong version)
1

(6.6)b Aw

1]

BZAZ + ABL (weak version)

The model consisting of the equations (6.3), (6.4) and (6.6)a
can be reduced to a set of difference equations:

) 2 2
k k k
- -— + =
(6:s 7) (A+BIB) - (2A+81B 81) . A b
Tl ey T,
-B 1-B
_Jo 11
= 1 ARy a [4Bg
5 t " =1

For an incidental wage-push the structural or trend solution
of the model variables is equal to the equilibrium growth
solution. What the stability of the system is concerned, the

roots of the characteristic equation have to be studied. This

is done in Appendix C. Only for B < % 18] and relatively high

'*) see for footnote 14, page 17.

a N
15) B « % = Bl +r > 2. Cfr. case e, page 14.



values of B the system is unstable.
1
The model consisting of the equations (6.3) ¢ (6:4) and (6.6)b

can also be reduced to a set of difference equations:

% 2 -B 1-B
k{ _ _ k N 0 [ !
(6.8) (a+8 B)j r —(A+8 B 8. N\w A ELt A [Br
t=1
r ) o —1 -1
E £~1

For an incidental wage-push the structural or trend solution
is different from the path of balanced growth, at least what
demand for labour and capital accumulation is concerned. The
income distribution is on the long run not affected by such a
wage-push. The structural values of the variables are given
by:

(6.9}

=1
I
P
I
|
Ual»—-
o
ol

(6.10)

%
1l
La]
1l
o

The process is

a. unstable with explosive oscillations if 62 > 2(A+82B) 16)

b. oscillating with constant amplitude if B2 = 2(A+82B)

c. oscillatory stable if (A+82B)<62<2(A+BZB)
d. quasi stationary if Bz = A + 62B
e. asymptotically stable if 0 < 82 < B * 82B

In Appendix D the complete model is presented, i.e. including
the equations for the other model variables and including some
other disturbances than the wage-push.

The results are illustrated by an example for the weak version

16) This is only possible for B < % and B sufficiently high.
Cfr. Appendix C.
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of the labour market reaction curve (6.6)b. For the same data

as on page 5 and for 62 = % the dynamic behaviour of the real

wage-rate is described by:

) |
VII_l + '5 AEL

[ BN

(6.11) w =

In table 3 the results are summarized of an incidental wage-
push of 3% on the various model variables. Because we are
dealing with an asymptotically stable process, the presentation
of the results for the first two periods and of the structural
solution will do.

In table 4 the results are presented in a system of national
accounting. For reasons of simplicity the balanced growth
model is supposed to generate a stationary economy (m = 0,

p =0, n =0, 6§ =0,1).



Table 3: The results of an incidental wage-push of 3%.
period
variable + 1 2 Erend
. 1
k capital stock 0 o -2
L demand for labour =1 = % =2
%2 : employment i = t - s -2
G ploy nc sector > 16
22 employment in cz-sector -1 - % -2
¢.: employment in i-sector " =2 =2
if emproym 2 16
c : volume of c - ducti 4 2 =2
.2 o : production > 16
c2: volume of cz—production -1 = % —2
i : volume of i-production -% -%% =2
w : real wage rate % %% 0
Pr, nominal wage rate % %% 0
p price of cl-good 0 0 0
2 3 21
P,* price of cz-good 3 16 0
p;* price of i-good 1 % 0
r : profit-rate -% -%5 0




Table 4: The effects of an incidental wage-push of 3% on the system of national accounting

equilibrium

solatien period 1 trend
N N
wages -p | 40%1 = 40 | 39,6%x1,015 = 40,2 39,2x1 = 39,2
profits Kep, *r|120X1x0,1 = 12 | 120x1,01%0,975 = 11,82 | 117,6x1x0,1 = 11,76
52 52,02 50,96
¢ -consumption & -Bl 20x1 =20 | 20,1x1 = 20,1 19,6x1 = 19,6
¢, -consumption ¢ -Bz 20x1 = 20 | 19,8x1,015 = 20,1 19,6x1 = 19,6
: Y
investment i.;i 12x1 =12 | 11,7x1,01 = 11,82 11,76x1 = 11,76
52 52,02 50,96
By i i 1
employment cl-sector a °cC EXZO = 10 5X20,1 = 10,05 5*19,6 = 9,8
1
employment c2-sector o -2 1x20 = 20 1x19,8 = 19,8 1x19,6 = 19,6
2
N
employment i-sector a, i %xzo = 10 %xll,? = 9,75 EXI1,76 = 9,8
n
total employment L 40 39,6 39,2

_ZZ_



§7. Some variations on the balanced growth model

An interesting property of the balanced growth model is the
rising share of labour-income in total national income for an
increasing preference for cz—goods, i.e. for nn > 0 (Cfr. Table
2, page 16). This is due to a switch in the relative shares of
the three sectors in the economy, whereas the labour income
share per sector is constant.

This is shown in Tables 5 and 6 for a 20-year period for the
following data: @ = 0,01; p = 0,05; § = 0;05; n = 0,01, Fox
reasons of simplicity the results are presented as if labour-

productivity is constant.



Table 5. The balanced growth model

(1)

year 0 year 10 year 20
vy
wages lpL 40x1 = 40 44x1 = 44 48x1 = 48
AV V)
profits kp.r 120x1%x0,1 = 12 120%x1x0,1 = 12 120x1%0,1 = 12
* 52 56 60
¢ -consumption 2131 20%1 =20 | 20x1 = 20 | 20x1 = 20
¢_-consumption 32';32 20x1 =20 | 24x1 = 24 | 28x1 = 28
LV
investment irp; | 12x1 =12 | 12x1 =12 | 12x1 =12
52 56 60
employment
v 1 1 1
c -sector a ¢ %20 =10 %20 = 10 %20 = 10
1 11 2 2 2
c,-sector azéz 1%20 =20 | 1x24 =24 | 1x28 = 28
i-sector ai-} %XIZ =10 %X12 = 10 %X12 =10
total 40 44 48

_vz-
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Table 6. The balanced growth model

(I1)

year cl-sector cz-sector i-sector| total
share in income 0 38,5 38,5 23 100
(in %) 5 37,0 40,7 22y 2 100
10 3557 42,9 21,4 100
15 34,5 44,8 20,7 100
20 33,3 46,7 20 100
employment 0 10 20 10 40
(in man-years) 5 10 22 10 42
10 10 24 10 44
15 10 26 10 46
20 10 28 10 48
share of labour 0 50 100 83,3 76,9
income (in %) 5 50 100 83,3 77:7
10 50 100 83,3 78,6
15 50 100 83,3 79,3
20 50 100 83,3 80
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Now we take into account that the investment function (2.7)
can be generalised as follows:
Y

Ny
= O *ke-xr

v
> R

(71}

where 9 (the propensity to investment with respect to
profits) is a function of time, in our case a increasing
function:

From (7.1) it follows that

(2]

b
o

so for a given and constant gross rate of growth of capital
this implies a decreasing rate of profit. In this case the
rising share of labour-income is not only explained by a
switch in the relative shares of the three sectors, but also
by a redistribution of income per sector. This is shown in
Tables 7 and 8 for a 20-year period for the following data:

T =0,0L; p =0,05; 6 = 0,05; OR is increasing from % to 1 and
the decline of y is just that high that employment in sector
c1 is constant. The gross rate of growth of capital is equal
to 10 procent.

To show the influence of the rise of GR, the situation in year

20 is given - ceteris paribus - for constant o, and linearly

R
declining rate of profit. For reasons of simplicity the price
of good i is set equal to one and the results are presented

as if labour-productivity is constant.



Table 7. The balanced growth model with declining rate of profit (I)

year 0 year 10 year 20 year 20*)
op = 2/3 OR = 4/5 OR =1 OR = 2/3
vy
wages QpL 40x0,9 =36|44%0,95 =41,8| 48x1 =48/38,85%x1 =38,85
LAV VIR V)
profits kpir 120x1x0,15=18 120x1%x0,125=15 120%x1x0,1=12 96x1x0,1= 9,6
54 56,8 60 48,45
c -consumption %151 20x1,2  =24|20x1,1 =22 | 20x1 =20|17,07x1 =17,07
¢, -consumption EZBZ 20x0,9  =18|24x0,95  =22,8[ 28x1 =28|24,99x1 =24,99
v
investment i-p, f12x1 =12|12x1 =12 | 12x1 =12|6,4x1 =_6,4
54 56,8 60 48,46
employment
¢ -sector o & [Ex20 =10|3x20 =20 |ix20 =20|3x17,07 = 8,53
1 11 |2 2 2 2 ¥ v
cz-sector azgz 1x20 =20(1x24 =24 1x28 =28]|1x24,99 =24,99
i-sector o -2 é><12 =1 é><12 =1 é><12 =10 EXG 4 = 5,33
i 6 —]6 — 6 —|6 ' L
total 40 44 48 38,85

_Lz_
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Table 8. The balanced growth model with declining rate of
profit (II)

year r cl-sector czfsector i-sector |total
share in income| O 2/3 44,4 33;3 222 100
(in %) 5 8/11 41,6 36,8 21 ;7 100
10 4/5 38,7 40,1 b P | 100
15 8/9 36,0 43,4 20,6 100
20 1 33,3 46,7 20,0 100
20 * |2/3 35,2 51,6 13,2 {100
employment 0 2/3 10 20 10 40
(in man-years) 5 8/11 10 22 10 42
10 4/5 10 24 10 44
15 8/9 10 26 10 46
20 1 10 28 10 48
20 ¥ |2/3 8,53 24,99 5,33 | 38,85
share of 0 2/3 37 ;5 100 7540 66,6
labour-income 5 8/11 40,2 100 17,1 70,2
(in %) 10 4/5 43,2 100 792 73,6
15 8/9 46,4 100 81,3 76,8
20 1 50,0 100 83,3 80
20 *| 2/3 50,0 100 83,3 | 80,2




As can be read from table 8 the rising share of labour-income
in total income is both due to the redistribution of income in
sectors ¢ and i as to a switch in relative position of the
sectors. ¢

Because of the condition K, = 0 a redistribution of income in
sector c2 is not possible.

If this condition is dropped a redistribution of income in
sector c2 becomes possible. In this case the development of
employment and production can only be corresponding to the
results of the original model, if the net rate of growth of
capital goods is higher than in the original model, because
growth of capital is now necessary in the cz-sector which is
labour-absorbing.

This is illustrated in tables 9 and 10. The fixed coefficients
of production are set equal in the sectors c2 and i. (a2 =
=y = 0,8 and Kz = Ky = 23 N.B. al = 0,6 and Kl = 4). The
gross rate of capital growth is equal to 10 percent and
moreover is supposed to be that higher than the sum of rise in
labour-productivity - which is the same in all sectors - and
rate of depreciation that capital is growing - under the usual
presentation as if labour-productivity is constant - by one
unit a year. The preference decline for cl—goods is just that
high that employment in sector cl is constant.

Also in this case the consequences of a constant o_ with

R
declining rate of profit are illustrated.



Table 9. The balanced

growth model with declining rate of

profit and <, # 0 (I)

year 0 year 10 year 20 year 20 o
Op = 2/3 Op = 4/5 op = 1 Op = 2/3
wages E?;L 40%0,875 =35 | 44x0,9375 =41,25 | 48x1 =48 | 32,5%1 =32,5
6 7 VIR V]
profits kpir 150%1%0,15=22,5| 160%1%x0,125=20 170%1%0,1=17 120%1%x0,1=12
57 35 61,25 65 44,5
c -consumption 8131 20%1,125 =22,5| 20%¥1,0625 =21,25 | 20x1 =20 15,5%1 =15,5
¢, -consumption 8232 20%1 =20 | 24x1 =24 281 =28 | 21x1 =21
n
investment 1 ;i 15%} =15 16%1 =16 17%1 =17 8x1 =8
57;5 61,25 65 44,5
employment
c -sector alél 0,6x20 =12 | 0,6%20 =12 0,6x20 =12 |0,6X15,5 = 9,3
cz—sector azgz 0,8%20 =16 0,8%24 =19,2 0,8%28 =22,4 | 0,8x%21 =16,8
N
i-sector aii 0,8%15 =12 0,8%16 =12,8 0,8%17 =13,6 | 0,88 = 6,4
total 40 44 48 32;5

_OE_
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Table 10. The balanced growth model with declining rate of
profit and K, # 0 (II)

year [ Op cl-sector cz—sector i-sector| total
share in income| 0 2/3 39,1 34,8 2651 100
(in %) 5 8/11 36,8 37 L 26;1 100
10 4/5 34,7 39,2 26,1 100
15 8/9 32 7 41,;2 26,1 100
20 2 30,8 43;1 26,1 100
20 *|2/3 34,8 47,2 18,0 |100
employment 0 243 12 16 12 40
(in man-years) 5 8/11 12 17,6 12,4 42
10 4/5 12 19;2 12,8 44
15 8/9 12 20,8 1352 46
20 g 12 22,4 13,6 48
20 *|2/3 9,3 16,8 6,4 | 32,5
share of labour| 0 2/3 46,7 70 70 60,9
income 5 8/11 49,7 72,5 71245 64,1
(in %) 10 4/5 52;9 75 7% 67 ;3
Y5 8/9 56,4 7745 7745 70,6
20 1 60 80 80 73,8
20 *|2/3 60 80 80 73,0
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Appendix A

If the hypothesis of full utilisation of capacity is dropped
in the static equilibrium-model and replaced by the hypothesis
of exogeneously determined investment, two types of profit-rate
will have to be distinguished in the model; a normal or
calculation rate of profit (¥c)' figuring in the price-
functions and ﬁhe factor price frontier derived from it, and a
real rate of profit (%f), defined as the ratio between total
profits and the value of the stock of capital goods. So total
profits can be divided in normal profits, to be calculated as
the capital value at normal rate of profit, and surplus
profits (or losses), which are the result of over-utilisation
(or under-utilisation) of capacity. This is stated in the
formules (a.l) and (a.2). The aggregated demand function for
labour and the excess demand function for capacity are given
bv (a.3) and (a.4).

v 0 VO v} Ai Y "
. . = . . + . .
b1 = Pi'Te k Pi T Pi'Te
"
(a.2) s L+ =
k
+Dr
(a.3) E T o i - }
a. o - Y = i
1 £
c
Y
v & oy
(3.4) Ak = Tl = &
Te
E-Bi-}f: total profits
n Ny 140 .
Kep, T * normal profits
AV VIR, ¥ :
VS PR surplus profits
i: exogeneously determined investment
u: rate of utilisation of capacity
A%: excess demand for capacity
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If the normal rate of profit and investment are given, the
model can be solved. Note that the results are in accordance
with Kalecki's theory of profits, which says that 'capitalists
earn what they spend, and workers spend what they earn'.*)
In tables A.1 (u > 1), A.2 (u = 0) and A.3 (u < 1) the
solution of the model is registered for the cases of over-

employment, full employment and unemployment of labour.

"
o
w
Q

1l
=
R

I

i
2 L= 0,75 £
K

2,35

Data: al 36 Y 0,5

105 D

K =5 kK =0 K.

: i i 2,5

*) Kaldor, Model of Distribution, in A. Sen, Growth Economics,
Penguin Books, 1970.



Table A.l. The model-solution for given normal rate of

than full utilisation of

capacity (u > 1)

profit and given investment and more

n i Y
i=13 i=12 i=11
N N "
L, = 0,10 I, = 0,10 r, = 0,10
Y] 7]
wages zv-pL 39x1 = 39 36X%1 = 36 33x1 = 33
normal profits g%i-?c 105x1x0,1 = 10,5 | 105x1x0,1 = 10,5 |105X1%0,1 = 10,5
. vonNoN
surplus profits Ak-pi-rc 25%1x0;1 = 2,51 15%1x0,1 = 1,5 | 5x1x%0,1 = 0,5
52 48 44
¢ —-consumption 2 -B 19,5x%x1 = 19,5} 18x1 = 18 16,5%1 = 16,5
1 b
cz—consumption 82-32 19,5x1 = 19,5 | 18x1 = 18 16,5x%1 = 16,5
investment }-E, 13x1 =13 1251 =12 1Ix1 =11
- 52 48 Y
LY
employment cl—sector al'c1 0,5%x19,5 = 9,79 0,5x18 = 9 0,5x16,5 = 8,25
N
employment cz-sector az'c2 1x19;5 = 19,5 ] 1x18 = 18 1x16,5 = 16,5
n
employment i-sector ai-i 0,75x13 = 9,75 0,75x12 = §% 0,75x11 = 32125
n;
total employment L, 39
demand for capacity
v
in ¢ -sector R, 5x19,5 = 95,5 ] 5x18 = 90 5%x16,5 = 82,5
1
n
in i-sector K;*1 2;5x%x13 = 32;5 | 2;5x12 = 30 2,5%11 = 27,5
Y Y]
total k+Ak 130 120 110

- E‘V—



Table A.2. The model-solution for given normal rate of profit and given investment

and

full utilisation of capacity (u 1)
N N N
i=21 i=15 i=10,5
N a1 v
E, = 0,2 =7 E, = 0!
N Ty
wages ZV'pL 42x0,5 = 21 36x0,75 = 27 31,5x%1 2 31.5
normal profits §~§i-¥c 105x0,75x0,2 = 15,75 105x%x% = 13,125 |105%1%0,1 = 10,5
: .72 I
surplus profits Ak+p,-r - = -
* 36,75 10,125 I
¢ -consumption ¢ p 10,5x1 =10,5 | 13,5x1 = 13,5 |15,75x1 = 15,75
1 1
c2-consumption 8 ~B 21x0,5 = 10,5 18%0,75 = 13,5 15,75x%1 = 15,75
2 T2
N 7
investment 1%p. 21x0,75 = 15,75 | 15x7 = 13,125 |10,5x%l1 = 10,5
. 36,75 8 10,125 r
employment cl—sector 5 i 0,5x10,5 = 5,25| 0,5%13,5= 6,75 |0;5%15,75 = 7,875
1. .1
N
employment ¢ -sector o *c, 1x21 = 21 1x18 = i8 1x15,75 = 15,75
v
employment i-sector |a,-i 0,75x21 = 15,75 0,75x15 = 11,25 |0,75x10,5 = _7,875
total employment Ev 42 36 31,5
demand for capacity
in ¢ -sector Kl-él 5x10,5 = 52,5 | 5x13,5 = 67,5 5x15,75 = 78,75
0,
in i-sector Ki'i 2.:5%21 = §2.5 2,5x15 = 37,5 2,5%10,5 = 26,25
i T V)
total k+Ak 105 105 105

- P -



Table A.3. The model-solution for given normal rate of profit and given investment and

less than full utilisation of capacity (u < 1)

v n,
i=20 i=18 i=16
N " N
£c - 0’2 £C = 0,2 £C = 0,2
) (2¥]
wages %, *Pp, 40x0,5 = 20 36x0,5 =18 32x0,5 =16
’ A VI ¥
normal profits E-pi-r 105x0,75x0,2 = 15,75[105x0,75x0,2 = 15,75 105%0,75%x0,2 = 15,75
, LTI
surplus profits Ak-pi- 5 +5x0,75x0,2 = 10,75 $15%0,75x0,2 = 12,25|+25x0,75x0,2 = £3 775
35 31,;5 8
. s n
cl-consumptlon cl-p1 10x1 = 10 9x1 = 9 8x1 = 8
, NN
cz—consumptlon c2°p2 20x0,5 = 10 18x0,5 = 9 16x0,5 = 8
investment i
i-p; 20x0,75 = 15 18x0,75 = 13,5 16x0,75 =12
35 31,5 28
- .’\J
employment c1 sector al cl 0,5x10 = 5 0,5x9 = 4,5 0,5x8 = 4
u
employment A sector o, c 1x20 = 20 1x18 = 18 1x16 = 16
: i
employment i-sector a i 0,75x20 = 15 0,75x18 = 13,5 0,75x16 = 12
v
total employment 2v 40 36 32
demand for capacity
- .r\l
in cl sector Kl cl 5x10 = 50 5x9 = 45 5x8 = 40
: i
in i-sector Kyl 2,5%20 = 50 2,5x18 = 45 25:5% 16 = 40
N "
total k+Ak 100 90 80

- G°¥ =
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Appendix B

In this appendix the algebraic formulation of the curves
(a)-(a), (figure 2, page 9 and figure 3, page 11) is derived.
An alternative graphic representation of the short term
adjustment process is also developed.

The curve (a)-(a) for the strong version of labour-market
reactions is based on the relations (2.10), (2.11) and (3.5)2
and on the definitions (3.1) and (3.2).

l-g.r
(2.10) w =
o + Dr
1
=
- V. @ o
(2.11) 2 = —— (a 4DE)K = £ = —L §_ + -1
v YK 1 - v D
1 Dk
X
K O, K.
»(I)C’V:!l_-l_-_l
YK D } D
v
a
(3:.5) Aw = B1 l_l - AEL
n, 37 voooay N
W W -w Ly "2, BTPL By "Pp
. Wi -1 & _ 1 0
W Tw T z 3
0 0 0 P, P
0 0
w
v 0o Vv v
L T T A A
0

Taking into account (I) the curve (a)-(a) is found:!’

v "
K 2 :
; = _Lgié g T 8 Zl k - Ei -Bw + (E -ﬁ )
u "
C 20 ’YKID g 1y v D 1 0 L+l L

') All variables are shifted one period.
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This function, being a combination of a hyperbole and a
straight line, will reach an extreme solution if the first

derivative vanishes.

0.
aw Kk a.k B w
. 1 d= ].__+ 1
7] 4" Ny
a YKlD 22 ¥
v v 0

By substitution of (2.10), (2.11) and the definitions of A and
B - see (3.3) and (3.4), page 7 - we get:

N
dw

+1 : 6 / A v _ ‘/ A
a}f—-> 0 4f ZV BB or ZV < 20 EE:

n
> 7
9 1
N
=0 48 § a8 f=ts
v - BB1

> 0 Aif -EOVA<E e q T

The curve (a)-(a) is drawn below for these three situations?)

(a)
(a) b (a)

! %—
|
|
|
=Y A v ~
L 2 2 L

0 v 0 v 0 v

(a)

€£e
T
|
I
£
T
I
|
=
£

o< I —
Wl o ja e

fig. a: curve (a)-(a) fig. b: curve (a)+(a) fig. c: curve (a)-*(a)
A - A
for Bl < B for 81 =3 for 61 > =

2) The negative function-area has been omitted for it is
economicly not relevant.
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In these diagrams3) curve I, representing the relation between

demand for labour and the real wage-rate, is added.

3)

+1

g £

(@)

=2

0 2

fig a': curves (a)*(a) and (I)

A
€ ==
for 81 B

As stated in note 3, page 7 a second order effect in

formule (3.3): w = -Ar has been neglected; the exact

solution (w = —Ar-ng& would provide a non-linear difference
a = -1 . -

equation: Aw = B! e ¥ AEL' The stability conditions

and the character of théladjustment process that is denoted
by this formula are slightly different from the descriptions
and conditions on page 8. Now not only the quantitative
values of A, B and Bl, but also the size of the initial
disturbance Ap; determinate the characteristics of the
adjustment process. For instance the process is quasi

: A
stationary if Bl =B s AEL- These complications present

difficulties especially in the figure b situation, so in
order to avoid interrupting the story unnecessarily with
technical details, figure b is ignored from now on.
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In figure a' the asymptotically stable process (case a, page 8)
can be seen. A disturbance of the eguilibrium wage-rate

(OB > OA) reduces demand for labour (BC < OP) ; reactions in
the labour-market via (a)-(a) push down the high wage-rate OB
by CD, but not enough to reach equilibrium. Demand for labour
is increasing (by DE) but full employment is not reached. This
process of falling wages and increasing employment goes on
until (asymptotically) the equilibrium wage-rate (OA) and

full employment (OP) are realised.

+1

g€ &2

(a)

(1)

=d

@) B
v

fig c': curves (a)-(a) and (I)

A
5 5=
for Bl B

In figure c' you can see the oscillatory stable process (case
c, page 8).

In this situation too a disturbance of the equilibrium wage-
rate (OB > OA) initially reduces demand for labour (BC < OP);
reactions in the labour-market via (a)-(a) are so vigorous
that the high wage-rate OB is pushed down by CD under the
equilibrium wage-rate. Demand for labour is increasing above

the full employment level, so in the next round wages are
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pushed up again. If the right part of curve (a)-(a) is not too
steep - i.e. for Bl not valued too high - the result is a
stable cobweb towards the equilibrium S. If 61 is valued high
the process of adjustment becomes unstable with explosive
oscillations. The oscillating process with constant amplitude
is in between the former and the latter situation.

For the weak version of labour-market-reactions curve (a)-(a)
is based on relations (2.10), (2.11) and (3.5)b and on
definitions (3.1) and (3.2).

W
+1 2

In figure d this curve (a)-(a) is drawn together with curve I,
representing the relation between demand for labour and the
real wage-rate .

v
w
+1
N
w
(1)
(a)
C
IT
D E
A— S
(a)
| (I)
N
o] P L

fig d.: curves (a)-+(a) and (I)

for the weak version

The character of the oscillatory stable adjustment process

(case a, page 10) can easily be read from figure d. A

disturbance of the equilibrium wage-rate (W = OA and ﬁL = OB)
0

reduces demand for labour (BC < OP), Reactions in the labour-
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market via (a)-(a) push down the high wage-rate BC by CD, but
the equilibrium wage-rate (OA) is not reached. Demand for
labour is increasing (by DE), but not enough to realise full
employment. This process goes on in a stable cobweb-way until
the stability point T that is characterized by unemployment

and a wage-rate higher than equilibrium-rate OA, but lower than
the level OB caused by initial disturbance, is reached. If B2
is valued higher, i.e. curve (a)-(a) proceeds steeper, the
process of adjustment is oscillatory with constant amplitude

or unstable with explosive oscillations.
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Appendix C: The stability of difference equations (6.7)

Consider:

(c.1) (A+BB)X, - (2A+BB-B)X __ + AX __ = f(t);

A>0; B> 0; B >0 [CEE (6.7)]

The characteristic equation of this difference equation is as
follows

(c.2) (A+BB)A% - (2A+BB-B)A + A = 0.
The discriminant (D) of this quadratic equation is as follows:

(c.3) D {2A+B8B-B}? - 4A(A+BB)

B2 (B-1)2 - 4AaB

B{B(B-1)2 - 4A}

Now B > 0, hence D < 0 if 0 < B < =
(B-1)*?
D=0 if B = 4
(B-1)?
D>0 Aif g > —A3A
(B-1)2
I If D < 0 the square roots of the characteristic equation
(c.2) are complex numbers, so the process is surely
. A " <
stable if ATEB < 1. PFor A > 0, B > 0 and g > 0 this is
true.

IX If D = 0 the square roots of the characteristic equation
(c.2) are the same and equal to:
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)\ ___2A+B(B—l)
172 2A+28B
B = &
éx =
1r2 B h {
but B = _—45——
(B-1) 2
For B > 0 it follows -1 < A < 1, so the process is stable.

172

IIT If D > 0 the square roots of the characteristic equation
(c.2) are different and equal to:

2a + B(B-1) + VBZ(B-1)? - 4AB
1,2 2A + 2B8B

Now the process is stable if a) Al < 1 and b) Az > =1
(X, » Xx.)
1 2

a) A < 1

oA + B(B-1) + VB2 (B-1)2 - 4AB
2A + 2RB

2A + BB - B + VBZ(B-1)? - 4AB < 2A + 28B

VBZ (B-1)2 - 4AB < B(B+1)
g2 (B-1)2 - 4AB < B?(B+1)?
B2 (-4B) < 4AB

A
B 2 B

but A > 0, B> 0 and B > 0, so A <1 is always true.
1



b)

2A + B(B-1) - VB (B-1)® - 4AB , _

C.3 —~

A >
2

2A + 2PRB

-

2A + BB - B - VB2(B-1)? - 4AB >

VB2 (B-1)2 - 4Ag <

-2A - 28B

4A + B(3B-1)

If 4a + B(3B-1) < 0 - which is only possible for
and B sufficiently high - then 12 < -1 and the

0 < B < l

3
process i

s unstable.

If 4A + B(3B-1) > 0, both sides of the inequality are

squared,

SO

B2(B-1)%2 - 4AR < {4A+B(3B-1)}?2

g? (B-2

Consider

a) If B >

B2) + B(A-6AB) -~

function f(B)

£(B)

f£(0) =

4A% < 0.

B2 (B-2B%2) + B(A-6AB) - 4AZ

0 for B

-4a% < 0.

1

%, then 1-2B < 0, so B < B_ < 0.

, then B-2B? < 0, so £(B) is a parabola with
downwards pointing axis.

(fig.

1)
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£(B)

N\ B

fig. L.

So f(B) < 0 for all B > 0, hence Az > -1 and the process

is stable.

8) If B = %, then f(B) = —2AB-4A% < 0 for all B > 0, so
A > -1 and the process is stable.

Y) I£ 0 < B < 3, then 1-2B > 0, so B > 0> B,
, then B-2B%? > 0, so f£(B) is a parabola with
upwards pointing axis.
(fig. 2)
f(B)

figa 2+
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So £(B) < 0 (hence Xz > =1Yy &€ O < B € B
1

4A

hence B < 1-28
i > PgaI=2 )
4A + B(2B-1) > O [ this result implies
condition 4A+B(3B-1) > 0]
so if 0 < B <1 = 8 < ia
andif%<a<-;-»s<1f§B

The general conclusion is that the process is stable for

B > & and that for 0 < B < : instability is only possible
=2 2

for relatively high values of B.
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Appendix D.

The complete model is as follows')

1 &y
(1) r = - = (w-p) A = : >0

” (@ +DE ) (1-k,% )

1 0 1”0
- _ D
(2) 2 =k +Br+n-p-1 B=—m—>0
a +Dr
1 0
(3) ak = r_,
()8 Aw =18 2 + A
w=8 <

()P Aw =B AL + A

2 B,
(5) B, = 0
(6) By =W F P
(7) P, =Py

[ <
(8) pP. = pP; * lm r - p
l & 1-K.T¥ -
10

(9) e =&%p,-Pp ¥Z=1

1) The variable % should be interpreted as the relative differ-
ence from a situation of full employment; the other
variables are as usual, i.e. relative differences from the
balanced growth path.



s Dol =

v
- 0
(10) ¢ =4+ pp p2+1+1_Y03
" r
€11.) i =k + =
r
0
(12) L =¢c =-p -1

(13) L =e =%

(14) ) &= p—-m

The disturbances are defined as follows

la. incidental wage push

1b. permanent wage push

2a. incidental extra rise in productivity

2b. permanent extra rise in productivity

3a. incidental extra rise in labour supply

3b. permanent extra rise in labour supply

4a. incidental extra preference shift

4b. permanent extra preference shift

For (4)2 the difference equation in 2 is as follows:

Ant

Aﬂt

0 for

for

for

0 for
0 for

for

0 for

for

for

0 for

0 for

for



=~ Do 3 =
(A+B B)& - (2a+B B-B )2 + AR =
1 1 1 =1 ==

= -B(Ap; -p)=-(1-B) (Apy -8p_ )+A(An-Ap-Am)-A(An ,~hp_ -brm

1 ——1
For (4)b the difference equation in £ is as follows:

(A+R B)L - (A+B B-B )& =
2 2 2 ot

= 'B(EL'E)'(l'B)(EL _E_l)+A(AﬂfAB'A1)
=4

The structural results of the four types of disturbances are
summarized in the table for the weak version (4)b case. The

value of the various impulses is always 1,5%.
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PREVIOUS NUMBERS:
EIT 42 W.M. van den Goorbergh Productionstructures and external

EIT

EIT

EIT

EIT

EIT

EIT

EIT

EIT

EIT

EIT

EIT

EIT

EIT

EIT

43

44

45

46

47

43

49

50

51

52

53

54

58

56

H.N. Weddepohl

B.B. van der Genugten
J.J.M. Evers'
Th. van de Klundert

A. van Schaik

G.R. Mustert

H. Peer

J.J.M. Evers
J.J.M. Evers
J.J.M. Evers

B.B. van der Genugten
H.N. Weddepohl

J.J.M. Evers

J. Dohmen
J. Schoeber

J.J.M. Evers

EIT 1976
*) not available
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applicatien of game theory to
a problem of choice between
private and public transport.

A statistical view to the problem
of the economic lot size.

Linear- infinite horizon
programming.

On shift and share of durable
capital.

The development of income
distribution in the Netherlands
after the second world war.

The growth of labor-management
in a private economy.

On the initial state vector in
linear infinite horizon
programming.

Optimization in normed vector
spaces with applications to
optimal economic growth theory.

On the existence of balanced
solutions in optimal economic
growth and investment problems.

An (s,S)-inventory system with
exponentially distributed lead
times.

Partial equilibrium in a market
in the case of increasing returns
and selling costs.

A duality theory for convex
®-horizon programming.

Approximated fixed points.
Invariant competitive equilibrium

in a dynamic economy with
negotiable shares.
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